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1. Balmiki Prasad Singh has taken over as Governor of _____  

(A) Goa 

(B) Bihar  

(C) Meghalaya 

(D) Sikkim 

(E) None of these 

Ans (D) 

2. The Paralympic Games in September 2008 were held at _____ 

(A) Tokyo  

(B) New York 

(C) Madrid 

(D) Stckholm 

(E) Beijing  

Ans (E) 

3. Which of the folowing is/are True about the National Rainfed Area Authority (NRAA) 

which was in news recently? 

 

    (1) The NRAA was set-up in 1955 at the initiative of the then Prime Minister J.L.Nehru 

    (2) NRAA was established to co-ordinate the work of five ministries associated with the 

development of rainfed  

          areas 

    (3) NRAA is now converted into a Corporation of the same name 

(A) Only 1 

(B) Only 2 

(C) Only 3 

(D) All 1 , 2 & 3 

(E) None of these 

Ans (B) 

 

4. Dalichi Sankyo has recently taken over which of the following Companies/Corporation of 

Indian base / 

(A) Jet Airways 

(B) Ranbaxy 

(C) Bhilai Steel Plant 

(D) National Textiles Corporation 



(E) None of these 

Ans (B) 

5. The recent report on Global Development Finance released by the World Bank has 

projected India 's GDP growth rate at which of the following levels? 

(A) 5 % 

(B) 6 % 

(C) 7 % 

(D) 8 % 

(E) 9 % 

 

Ans (C) 

6. which of the following cities is placed at the top of the list of cities found suitable for 

"Global Commerce" compiled by the master cards? (Result of the survey were published in 

various financial newspaper) 

(A) London  

(B) New York 

(C) Tokyo  

(D) Beijing  

(E) Mumbai 

 

Ans (D) 

7. The New Capital Adequacy Framework prescribed for banks in commonly known as ___ 

(A) Credit Policy 

(B) Monetary Policy 

(C) KYC Norms 

(D) Basel Accord 

(E) None of these 

Ans (D) 

8. As we all know Cash Reserve Ratio (CRR) in the percentage of the deposit banks keep in 

reserve with them . This ratio is also known as ___ 

(A) Repo Rate 

(B) Reserve Repo Rate 

(C) SLR 

(D) Liquidity Ratio 

(E) None of these 

Ans (E) 

9. The sudden turn of events in the economic environmental globally , in the last four to five 

month have resulted in slowing down of India 's economic growth. Which of the following 

is/are the event(s) which has/have put their impact on Indian economy? 



(1) Turmoil in US Credit market 

(2) Large scale increase in the prices of crude oil and foodgrains 

(3) Adoption of Basel II norms by the banks 

 

(A) Only 1 

(B) Only 2 

(C) Only 3 

(D) Both 1 & 2 only 

(E) All 1,2 & 3 

Ans (D) 

10. Which of the following is India 's Tax GDP ratio ? 

(A) 5 % 

(B) 15 % 

(C) 25 % 

(D) 30 % 

(E) None of these 

Ans (B) 

11. Which of the following is known as 'Himadri' ? 

(A) It is India's Space Craft launched to study the moon 

(B) It is India's first Research Station in Arctic Region 

(C) It is new battle tank produced by India 

(D) It is new warship inducted in the Indian Navy recently 

(E) None of these 

Ans (B) 

12. The Govt. of India recently announced a subsidized pricing policy based on nutrients in it 

of which of the following to protect the interest of the farmers ? 

(A) Seeds 

(B) Pesticides 

(C) Fertilizers 

(D) Organic Manure 

(E) None of these 

Ans (D) 

13. The next Non-Aligned Movement SAummit 2009 is scheduled to be held in ___ 

(A) India 

(B) Egypt  

(C) Brazil 

(D) South Africa 

(E) None of these 

Ans (B) 

15. Ghulam Nabi Azad was in the news recently as he has resigned from the post of the ___ 



(A) Governor, Jammu & Kashmir 

(B) Chief Minister , Jammu & Kashmir 

(C) Governor , Jharkhand 

(D) Chief Minister, Jharkhand 

(E) Governor, Manipur 

 

Ans (B) 

15. When the growth of GDP in a country slows down suddenly,people start losing their jobs 

and the situation continues for several weeks,what name is given to this state of economy (A 

big was in this state recently.) ? 

(A) Inflation 

(B) Recession 

(C) Deflation 

(D) Economic Boom 

(E) None of these 

Ans (B) 

16. "Lisbon Treaty" is the treaty accepted/adopted by the members of which of the following 

organizations recently ? 

(A) NATO 

(B) SAARC 

(C) European Union 

(D) Nuclear Supplier Group (NSG) 

(E) None of these 

 

Ans (C) 

17. When a corporate entity wishes to raise money from the market it can do that by issuing 

___ 

(A) Treasury Bill 

(B) Momerandom of Association 

(C) Kisan Vikas Patra 

(D) National Saving Certificate 

(E) Commercial Papers 

Ans (E) 

18. Russia has recently made a ceasefire Agreement with which of the following nations ? 

(A) Ukraine  

(B) Kazakhastan 

(C) Croatia 

(D) Georgia 

(E) None of these 

Ans (D) 



19. The Govt. of India has decided to build a Nuclear Power Plant in which of the following 

North Eastern States ? 

(A) Manipur 

(B) Assam 

(C) Meghalaya 

(D) Arunachal Pradesh 

(E) None of these 

Ans (E) 

20.India won it's individual Gold Medal in Beijing Olympic 2008 in which of the following 

events ? 

(A) Hockey 

(B) Football 

(C) Lawn Tennis 

(D) Swimming (E) Rifle Shooting 

Ans (E) 
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General English 

Directions—(Q. 41–50) Read the following passage carefully and answer the questions given 

below it. Certain words are printed in bold to help you to locate them while answering some 

of the questions. 

 

The yearly festival was close at hand. The store room was packed with silk fabrics. gold 

ornaments, clay bowls full of sweet curd and platefuls of sweetmeats. The orders had been 

placed with shops well in advance. The mother was sending out gifts to everyone. 

 

The eldest son, a government servant, lived with his wife and children in far off lands. The 

second son had left home at an early age. As a merchant he travelled all over the world. The 

other sons had split up over petty squabbles, and they now lived in homes of their own. The 

relatives were spread all across the world. They rarely visited. The youngest son, left in the 

company of a servant, was soon bored and stood at the door all day long, waiting and 

watching. His mother, thrilled and excited, loaded the presents on trays and plates, covered 

them with colourful kerchiefs, and sent them off with maids and servants. The neighbours 

looked on. 

 

The day came to an end. All the presents had been sent off. 

 



The child came back into the house and dejectedly said to his mother, ―Maa, you gave a 

present to everyone, but you didn‘t give me anything !‖ 

 

His mother laughed, ―I have given all the gifts away to everyone, now see what‘s left for 

you.‖ She kissed him on the forehead. 

 

The child said in a tearful voice, ―Don‘t I get a gift ?‖ 

 

―You‘ll get it when you go far away.‖ 

 

―But when I am close to you, don‘t I get something from your own hands ?‖ 

 

His mother reached out her arms and drew him to her. ―This is all I have in my own hands. It 

is the most precious of all.‖ 

 

41. Why did the woman's second son travel ?  

(A) He was restless by nature 

(B) He did not want to stay at home 

(C) He was rich and could afford to travel 

(D) His job was such that he had to travel 

(E) None of these 

42. Why did the woman‘s eldest son not attend the festival ? 

(A) He was not on good terms with his youngest brother who lived at home 

(B) He had quarrelled with his mother 

(C) His wife did not allow him to return home 

(D) His job prevented him from taking leave 

(E) None of these 

43. How did the woman prepare for the festival ? 

1. She bought expensive gifts for her children and neighbours. 

2. She ordered her servants to prepare sweets and food well in advance. 

3. She made sure that her youngest child was looked after so that he wouldn‘t be bored. 

(A) None 

(B) Only 1 

(C) Only 2 

(D) Both 1 and 2 

(E) All 1, 2 and 3  

44. What did the youngest child do while his mother was busy ? 

1. He waited for a chance to steal some sweetmeats. 

2. He pestered his mother to give him a present. 

3. He stood at the door with servants. 

(A) Only 1 

(B) Only 2 

(C) Both 1 and 3 



(D) Only 3 

(E) None of these 

45. Which of the following can be said about the woman ? 

(A) She was a widow who had brought up her children single handedly 

(B) She was not a good mother since her children had left home at an early age 

(C) She enjoyed sending her family gifts at festival time 

(D) She gave expensive presents to show that she was wealthy 

(E) She rarely visited her grand-children because they all lived abroad 

46. What did the boy receive from his mother ? 

(A) She taught him the value of patience 

(B) She encouraged him to grow up and live independently like his brothers 

(C) She showed him the importance of giving expensive gifts 

(D) She gave him a hug to express her love 

(E) None of these 

47. Which of the following is TRUE in the context of the passage ? 

(A) The woman usually ignored her youngest son 

(B) The woman‘s eldest son lived abroad 

(C) The members of the woman‘s family did not care about her 

(D) The woman made all the preparations herself since she did not want to burden the 

servants 

(E) The woman sent gifts to her children to ensure that they visited her 

Directions—(Q. 48–49) Choose the word which is most nearly the SAME in meaning as the 

word printed in bold as used in the passage. 

48. Left 

(A) Gone 

(B) Quit 

(C) Remaining 

(D) Disappeared 

(E) Forgot 

49. Packed 

A) Filled 

(B) Squeezed 

(C) Crowd 

(D) Collected 

(E) Untidy 

50. Choose the word which is most OPPOSITE in meaning of the word dejectedly as used in 

the passage. 



(A) Calmly 

(B) Happily 

(C) Willingly 

(D) Fortunately 

(E) Softly 

Directions—(Q. 51–55) Read each sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The letter of that part is the answer. If there is 

no error, the answer is (E). (Ignore errors of punctuation, if any) 

 

51. Many multinational companies (A) / have not been as (B) /successful in India (C) /than 

we expected. (D) No error (E) 

 

52. He has ruined (A) /his eyesight (B) /by not using (C) /his spectacles regularly. (D) No 

error (E) 

 

53. Mostly of the (A) /newly recruited officers (B) /have no experience (C) /in the banking 

sector. (D) No error (E) 

 

54. The resignation of (A) /one of our directors (B) /have caused the price (C) / of shares to 

fall. (D) No error (E) 

 

55. There are many (A) /ways of which (B) /inflation can (C) /be measured. (D) No error (E) 

 

Directions—(Q. 56–60) Which of the phrases (A), (B), (C) and (D) given below should 

replace the phrase given in bold in the following sentence to make the sentence 

grammatically meaningful and correct. If the sentence is correct as it is and ‗No correction is 

required.‘ mark (E) as the answer. 

 

56. Each of the loan must be approved by the Branch Manager—  

(A) Every loan 

(B) Each one of the loan 

(C) Any of the loan 

(D) All of the loan 

(E) No correction required  

57. The issue was taken before the Municipal Corporation meeting last week—  

(A) Taking place at 

(B) Taken after 

(C) Being taken in 

(D) Taken up at 

(E) No correction required  

58. He has asked for the names of those employees involved in the project.  

(A) had asked 

(B) having asked about 

(C) was asked that 



(D) is asking 

(E) no correction required  

59. Considerate the traffic, it is better to leave for the airport an hour early—  

A) While considering 

(B) Consideration of 

(C) Considering 

(D) Being considerate to 

(E) No correction required  
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60. He is a good leader, knowing that to motivate his employees to achieve— 

(A) That known when 

(B) Who knows how 

(C) Which knows how 

(D) Knowing what 

(E) No correction required 

Directions—(Q. 61–65) Rearrange the following six sentences (1), (2), (3), (4), (5) and (6) in 

the proper sequence to form a meaningful paragraph; then answer the questions given below 

them. 

(1) The able bodied men of the tribe gathered to discuss how to climb the mountain. 

(2) As part of their plundering they kidnapped a baby of one of the families. 

(3) One day the mountain tribe invaded those living in the valley. 

(4) ―We couldn‘t climb the mountain. How could you?‖, they asked, ―It wasn‘t your baby !‖ 

she replied. 

(5) There were two tribes in the Andes –one lived in the valley and the other high up in the 

mountains. 

(6) Two days later they noticed the child‘s mother coming down the mountain that they 

hadn‘t yet figured out how to climb. 

61. Which of the following should be the SECOND sentence after rearrangement ? 

(A) (1) 

(B) (2) 

(C) (3) 

(D) (4) 

(E) (5) 

62. Which of the following should be the FIFTH sentence after rearrangement ? 



(A) (6) 

(B) (5) 

(C) (4) 

(D) (3) 

(E) (2) 

63. Which of the following should be the FIRST sentence after rearrangement ? 

(A) (1) 

(B) (2) 

(C) (3) 

(D) (4) 

(E) (5) 

64. Which of the following should be the SIXTH (LAST) sentence after rearrangement ? 

(A) (1) 

(B) (2) 

(C) (3) 

(D) (4) 

(E) (5) 

65. Which of the following should be the THIRD sentence after rearrangement ? 

(A) (1) 

(B) (2) 

(C) (3) 

(D) (4) 

(E) (5) 

Directions—(Q. 66–70): In each question below a sentence with four words printed in bold 

type is given. These are lettered (A), (B), (C) and (D). One of these four words printed in 

bold may be either wrongly spelt or inappropriate in the context of the sentence. Find out the 

word, which is wrongly spelt or inappropriate, if any. The letter of that word is your answer. 

If all the words printed in bold are correctly spelt and also appropriate in the context of the 

sentence mark (E) i.e., all correct as your answer. 

 

66. The income (A) of many people in rural (B) India is not adequate (C) to satisfy (D) their 

basic needs. All correct (E) 

 

67. He is always (A) prompt (B) in caring (C) out instructions. (D) All correct (E) 

 

68. The revized (A) rates (B) of interest will be effective (C) immediately. (D) All correct (E) 

 

69. Such transactions (A) are quiet (B) expensive (C) and time consuming (D) for customers. 

All correct (E) 

 

70. The guidelines (A) of the new scheme (B) are expected (C) to be finally (D) soon. All 

correct (E) 

 



Directions—(Q. 71–80) In the following passage there are blanks each of which has been 

numbered. These numbers are printed below the passage and against each five words/ phrases 

are suggested one of which fits the blank appropriately. Find out the appropriate word in each 

case. 

 

I used to look …(71)… to the holidays. I was usually …(72)… to my uncle‘s house where I 

…(73)… his children. I did not get paid a salary for …(74)… What I received in return 

however, was far more …(75)… My uncle was an avid reader. During the time I spent with 

his family I had an …(76)… to read the vast amount of books and magazines that he 

possessed. This improved my English to some …(77)… Reading became my new …(78–

79)… spending my pocket money on a ticket to the cinema I began to …(80)… books. This 

has benefited me greatly. 

 

 

71.   (A) forward 

        (B) towards 

        (C) backward 

        (D) up 

        (E) around 

 

72.   (A) went 

        (B) sent 

        (C) visited 

        (D) travelled 

        (E) gone 

 

73.   (A) cared 

        (B) occupy 

        (C) guarded 

        (D) taught 

        (E) played 

 

74.   (A) them 

        (B) whom 

        (C) this 

        (D) now 

        (E) which 

 

75.   (A) expensive 

        (B) deserving 

        (C) helping 

        (D) demanding 

        (E) valuable 

 

76.   (A) opportunity 

        (B) ability 

        (C) use 

        (D) encouragement 

        (E) achievement 

 



77.   (A) distance 

        (B) extent 

        (C) time 

        (D) limits 

        (E) degrees 

 

78.   (A) activity 

        (B) hope 

        (C) hobby 

        (D) duty 

        (E) worship 

 

79.   (A) despite 

        (B) though 

        (C) by 

        (D) instead of 

        (E) while 

 

80.   (A) sell 

        (B) read 

        (C) exchange 

        (D) invest 

        (E) buy 

 

Answers: 

41. (D) 42. (E) 43. (A) 44. (D) 

45. (C) 46. (D) 47. (B) 

48. (C) 49. (A) 50. (C) 

51. (D) Replace ‗than‘ with ‗as‘. 

52. (E) 

53. (A) Change ‗Mostly‘ to ‗Most‘. 

54. (C) Change ‗have‘ to ‗has‘. 

55. (B) Replace ‗of‘ with ‗in‘. 

56. (A) 57. (D) 58. (E) 59. (C) 60. (B) 

61. (C) 62. (A) 63. (E) 64. (D) 65. (B) 

66. (E) 67. (C) 68. (A) 69. (E) 70. (D) 

71. (A) 72. (B) 73. (D) 74. (C) 75. (E) 

76. (A) 77. (B) 78. (C) 79. (D) 80. (E) 
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1. On 7th May 2008, agni-I was test-fired. It was 

(A) Ballistic Missile 

(B) Surface to air missile 

(C) Land to sea missile 

(D) Air to air missile 

2. Which of the following High Courts has recently quashed the merit list issued in 2006 and 

2007 by the centre and the  

     UPSC 

(A) Bhopal High Court 

(B) Rajasthan High Court 

(C) Madras High Court 

(D) Guwahati High Court 

3. Recently the Acronym START came into News. START stands for‖ 

(A) Strategic Association for Restructuring Trade 

(B) Strategic Arms Limitation Treaty 

(C) System Tracking and Reprocessing Team 

(D) None of the above 

4. People™s Democratic Party emerged second largest party with 33Â·01% in elections held 

in‖  

(A) Bhutan 

(B) Nepal 

(C) Zimbabwe 

(D) Italy  

5. According to the World Conservation Union Report, the number of plant species in India 

listed as threatened is  



(A) 247 plant species 

(B) 250 plant species 

(C) 275 plant species 

(D) 255 plant species 

6. Which of the following states passed a Bill in March 2008, amending the Registration Act 

1908 to prohibit foreigners from buying land in the state  

(A) Kerala 

(B) Andhra Pradesh 

(C) Goa 

(D) Maharashtra 

7. The renowned scientist John Wheeler who died in April 2008, was originally hailed from  

(A) Australia 

(B) U.S.A.  

(C) Finland 

(D) Britain    

8. Who received Indira Gandhi Prize for Peace, Disarmament and Development for 2007  

(A) Bill Gates 

(B) Nelson Mandela 

(C) Bill and Melinda Gates Foundation 

(D) Arthur C. Clarke 

9. The 2008 UNESCO/Guillermo Cano World Press Freedom Prize awarded to  

(A) Lydia Cacho Ribeiro 

(B) Anna Politkovskaya 

(C) May Chidiac 

(D) U Win Tin 

10. Which of the following Indian players has not completed 10,000 runs in Test cricket  



(A) Rahul Dravid 

(B) Sachin Tendulkar 

(C) Sunil Gavaskar 

(D) Virendra Sehwag 

11. On March 26, 2008, NASA™s space shuttle which returned safely to Earth after 

completing 16 day mission to International Space Station was 

(A) Discovery 

(B) Endeavourer 

(C) Columbia 

(D) None of the above 

12. Jules Verne is Europe  

(A) Space shuttle 

(B) Missile shield system 

(C) Biggest spacecraft 

(D) Mission to Antarctica 

13. Indias National Vector Borne Disease Control Programme has prepared the countries first  

(A) Dirrohoea map 

(B) Malarial map 

(C) Bird flu map 

(D) Cancer map 

14. The World Is What It Is™ is the biography of 

(A) V. S. Naipal 

(B) Khushwant Singh 

(C) Amrita Preetam 

(D) A.P.J. Abdul Kalam 

15. According to a World Bank Report India got remittances in 2007 worth 



A) $ 30 billion 

(B) $ 35 billion 

(C) $ 25 billion 

(D) $ 27 billion 

16. The Summit of NATO (NORTH ATLANTIC TREATY) was held in April in  

A) Romania 

(B) Morocco 

(C) Pakistan 

(D) Indonesia  

17. ACcording to latest WHO report the number of estimated TB cases found every year in 

India is 

(A) 2Â·2 million 

(B) 1Â·9 million 

(C) 1Â·5 million 

(D) 1Â·7 million 

18. Tata purchased Jaguar and Rover from 

(A) Hyundai 

(B) Maruti Suzuki 

(C) Ford Motor 

(D) None of the above 

19. According to a survey, the country which has the highest number of internet users is  

(A) U.S.A.  

(B) China 

(C) Japan  

(D) Germany  

20. Which country has won the Women's Asia Cup Cricket 2008 which was held in Colombo 

in the month of May 2008 ?  



(A) Brisbane 

(B) Melbourne  

(C) Sydney 

(D) Perth    

21. According to Prime Minister™s Economic Advisory Council (EAC) headed by C. 

Rangrajan the economic growth rate for 2008-09 will remain at 

A) 8% 

(B) 8Â·5% 

(C) 9% 

(D) 8Â·9% 

22. The Pritzkar Architecture Prize has been won by  

(A) Bill Gates Foundation 

(B) William Harvey 

(C) Jea Nouvel 

(D) None of the above 

23. Which of the following cricket players has been banned for violating the player™s code 

of conduct by PCB ?  

(A) Danish Kaneria 

(B) Shoaib Malik 

(C) Mohammad Yousuf 

(D) Shoaib Akhtar 

24. The National Rural Employment Guarantee Scheme has now been extended to all 604 

districts of the country with a total budget outlay of‖ 

(A) 18000 crore 

(B) 16000 crore 

(C) 15000 crore 

(D) 14000 crore 



25. Inflation which soared above 7% in the month of April is measured by 

A) Consumer Price Index 

(B) Retail Price Index 

(C) Whole Sale Price Index 

(D) Industrial Price Index 

26. The winner of Bahrain Grand Prix is 

(A) Lewis Hamilton 

(B) Kartikeyan 

(C) Felipe Massa 

(D) Robert Kubica 

27. The winner of Miss India Earth 2008 is  

(A) Tanvi Vyas 

(B) Suman Kaur 

(C) Rashmi Sehgal 

(D) Rani Sharma 

28. In face of rising prices, Central Government has decided to set strategic Reserve of 

foodgrains over and above buffer stock. The limit of the reserve is  

(A) 10 million tonneS 

(B) 7 million tonnes 

(C) 6 million tonnes 

(D) 5 million tonnes 

29. Which of following newspapers/magazines won six Pulitzer prizes 

(A) The New York Times 

(B) The Times Magazine 

(C) The Washington Post 

(D) The Guardian 

30. ˜Leftism in India , 1917-1947â€™ is a book written by 



(A) S. R. Chaudhuri 

(B) K. Kanwar 

(C) R. Nagaswamy 

(D) Sudipto Chatterjee 

31. Recently President Pratibha Patil visited three countries. Which of the following was not 

the part of her trip 

(A) Argentina 

(B) Chile 

(C) Mexico 

(D) Brazil    

32. GJM stands for 

(A) General Justice Movement 

(B) Gorkha Janmukti Morcha 

(C) Gorkhaland Janshakti Morcha 

(D) Gorkha Janjagriti Morcha 

33. The elections of which of the following countries were marred by controversy  

(A) ItalY 

(B) Spain 

(C) Zimbabwe 

(D) Nepal    

34. Supreme Court has upheld the law enacted in 2006 providing 27% for candidates 

belonging to 

(A) SCs 

(B) STs 

(C) OBC 

(D) Minorities OBC 



35. At which of the following places have the remains of early human history been found in 

excavation 

(A) Chittorgarh 

(B) Bhavnagar 

(C) Kolkata 

(D) Karaikal 

36. Judum™ is 

(A) Terrorist organization 

(B) A branch of naxalite 

(C) Name of a police force 

(D) An anti naxalite movement 

37. When was Nepal declared a Secular Nation 

(A) in 2005 

(B) in 2007 

(C) in 2008 

(D) in 2006 

38. The Director General of UN Food and Agriculture Organization of present is  

(A) Jacques Diouf 

(B) Kundekeh K. Yumkella 

(C) Jammel Al Hiyilan 

(D) Michael Griffin    

39. According to a research, stem cells from skin can treat 

(A) Alzhumer 

(B) Schizophrenia 

(C) Parkinsons disease 

(D) None of the above 

40. When did the Olympic torch relay begin  



(A) in 1950 

(B) in 1952 

(C) in 1953 

(D) in 1963  

Answers with Hints 

1. (A)  

2. (C)  

3. (B) The Strategic Arms Limitation Treaty (START-II) is a treaty between Russia and 

U.S.A. for reducing their nuclear arsenals. The treaty is due to expire in 2009.  

4. (A) 5. (A) 6. (C) 7. (B) 8. (C) 9. (A) 10. (D) 11. (B) 12. (C)  

13. (B) India™s Vector Borne Disease Control Programme has prepared the country™s first 

malarial map identifying India™s 60 most malarial endemic districts that report over 50% of 

the country™s malaria™s cases.  

14. (A) 15. (D) 16. (A) 17. (B) 18. (C)  

19. (B) 20. (A) India won fourth consecutive times in Women's Asia Cup Cricket 21. (B)  

22. (C) The Pritzkar Architecture Prize, considered to be equivalent of Nobel Prize for 

architecture has been won french architect Jea Nouvel for his creative experimentation in 

architecture.  

23. (D) 24. (B) 25. (C) 26. (C) 27. (A) 28. (D)  

29. (C) The Washington Post has won six Pulitzer Prizes, including Public service award for 

its reporting on conditions of U.S. War Veterans.  

30. (A) 31. (A) 32. (B) 33. (C)  

34. (C) The Supreme Court on April 10, 2008 upheld the law enacted in 2006 providing a 

quota of 27 per cent to the other Backward Classes in Central Educational Institutions. 

35. (C)  

36. (D) Salva Judam is an antinaxalite movement formed by group of people against attack 

from maxalites. The movement started from Dantewada district (Chhattisgarh).  

37. (D) 38. (A) 39. (C) 40. (B) 

 

 

 

 

 

 

 

 

 



Paper Type     : Technical - Other  

   

                                            Practice test for for Bank PO, Bank Clerk, MBA 
 
1. A ____ is a named location on a disk where files are stored. 

    A folder 

    B pod 

    C version 

    D none of the above 

    Ans (A) 
2. The ____ allows you to choose where to go and is located below the Standards Buttons 

toolbar. 

    A System menu 

    B Address bar 

    C Menu bar 

    D none of the above 

    Ans (B) 
3. A ____ is a set of computer instructions that carry out a task on the computer. 

    A program 

    B database 

    C memory file 

    D none of the above 

    Ans (A) 
4. An operating system version designed for home use is Microsoft Windows XP ____. 

    A Home Edition 

    B Media Center Edition 

    C Tablet PC 

Edition 

    D none of the above 

    Ans (A) 
5. A user-interface that is easy to use is considered to be ____. 

    A user-happy 

    B user-simple 

    C user-friendly 

    D none of the above 

    Ans (C) 
6. When you press and release the secondary mouse button you are ____. 

    A Right-clicking 

    B Left-clicking 

    C either a. or b. 

    D neither a. nor b. 

    Ans (A) 
7. Another term for hyperlink is ____. 

    A link 

    B source 

    C bar 

    D none of the above 

    Ans (A) 
8. A ____ is a flash memory storage device that plugs into a USB port. 
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    A USB snap drive 

    B USB flash drive 

    C USB memory maker drive 

    D none of the above 

    Ans (B) 
9. An operating system version designed for use with a Media Center PC is Microsoft 

Windows XP ____. 

    A Home Edition 

    B Media Center Edition 

    C Tablet PC Edition 

    D none of the above 

    Ans (B) 
10. A graphical user interface displays ____. 

    A graphics 

    B text 

    C both (A) and (B). 

    D neither (A) nor (B). 

    Ans (C) 
11. When you quickly press and release the left mouse button twice, you are ____. 

    A Primary-clicking 

    B Double-clicking 

    C pointing 

    D none of the above  

    Ans(B) 

12. Underlined text, such as text and folder names is referred to as a ____. 

    A hyperlink 

    B menu 

    C source drive 

    D none of the above 

    Ans (A) 
13. The ____ program compresses larger files into a smaller file. 

    A WinZip 

    B WinShrink 

    C WinStyle 

    D none of the above 

    Ans (A) 
14. An operating system version designed for use with a tablet PC is Microsoft Windows XP 

____. 

    A Home Edition 

    B Media Center Edition 

    C Tablet PC Edition 

    D none of the above 

    Ans (C) 
15. The ____ displays the name of every computer user on the computer. 

    A Wish list screen 

    B Command screen 

    C Welcome screen 

    D none of the above 

Ans (C) 



16. The ____ contains commands associated with the My computer window. 

    A Standards menu 

    B Start menu 

    C System menu 

    D none of the above 

    Ans (C) 
17. Press the ____ button to have the window fill the entire screen. 

    A Close 

    B Maximize 

    C Minimize 

    D none of the above 

    Ans (B) 
18. The ____ is the drive containing the files to be copied. 

    A source drive 

    B destination drive 

    C USB drive 

    D none of the above 

    Ans (A) 
19. A ____ allows you to write on screen with a digital pen and convert that writing into 

characters that the PC can      

      process. 

    A monitor RS 

    B tablet PC 

    C database manager 

    D media center 

    Ans (B) 
20. A ____ is a pointing device. 

    A monitor 

    B mouse 

    C keyboard 

    D none of the above 

    Ans (B) 
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